x2, x>3ise

el ol f(x}:{ 2x, x<3ise

olduguna gore, f(2) + f(3) + f(4) toplami kagtir?

A)4 B) 10 C) 26 D) 30

x2+1, x>0ise

f:R-R, f(X)={3_2x, x <0 ise

olduguna gore, (fof)(—2) kagtir?

A) =7 B) -1 C)5 D)7

R den R ye

S x2+1, x>0ise
)= 3-2x, x=0ise

x2 , x>3ise
g(x) =

2x , x=3ise

E) 50

olduguna gore, (fog)(3) + (gof)(—1) toplami kagtir?

A)5 B)6 C) 25 D) 37
m eI 3x+1, x=1ise
o= 3-2x, x<1ise
olduguna gore, f(8) kagtir?
A)— B) 2 C)3 D)7
WWW,SUDEr'SOr.com
Cevaplar :

1)C, 2)E, 3)E, 4)D,

E) 62



